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Ihe economy of developing COUNlries is:
(A)  Triangular
() Circular
() Rectangular

(1) None of the above

According to Adam Smith stationary

stage of cconomic development s -

(A) Initial stage

(B) Laststage

(C) Both(A)and (B)

(D) Nonc of the above

Robbinson’s golden age i.e. AK - AN
K N

indicates

(A) Balanced growth

(B) Unbalanced growth

(C) Natural growth

(D) Both(A)and (B)

Marx’s book is :

(A) Wealth of Nations

(B) Das Capital

(C) Factor in Economic Development

(D) None ofthe above

US-15032 (S)
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(3)

R

(C) FTTH
O) IRNF A F 7 AH

wed Y & oER, |fve sy
anftfe fewrg =t
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© (A (B) Il
D) IR & §

e 1wl g onig é},{‘iz%‘l

©) Tl e
D) (A)TG (B) &l
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(A) I aife I

B) M dfveq
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o “ofreR qu SRORERT ¥ -gE

5. “Underdeveloped and Jess-developed

e

are synonyms.” This statement 1S . 3 qaigard ¥ 1" 98 A
(A) True (A w4E
(B) False By Fat

©) (AT (B) A

O) I ¥ & B T

(C) Both(A)and (B)

(D) None of the above

6. Pretfafa # @ B9 G (SAARC) &

6. Which one of the following is not a

member of ‘SAARC" ? w7
(A) SriLanka (A) AdH
(B) Bhutan %Bf b Ga

(C) Afghanistan (C) ST
(D) indonesia ®) FEARA

7. iR & ot R Rrar & Rl
st wee R T ¥ 7

LAy WERR R B AR

7 The theory of growth developed by

Schumpeter gives importance to the :

(A1 Need for balanced growth
®) Fnafa @@ @ e

(C) wagd A g
(D) TavEE A g

(B) Development of infrastructure

(C) Role of managers

(D, Roleof innovations

ys-15032 (S) (4)
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8.  Capital decpening means : g M ATIET A At ¥ -
(A) Using larger amount of 1y, (A) TR B T & 9w i ey arEn
compared to capital pouiETe
(B) Using more thumancapita[ (B) #HE9 'i'ﬁ A 9E Fe
(C) Increase in capital PEr Worker in (C) @B A ’31'{{ AT 7 ofqam
already existing productiop, ‘i’_’ﬁ 7 g Hear
(D) None of the above N2 8 I & A ¥ T4
9. Who conducts the periodica sample 9. W % g99-99g 9T T 3
survey for estimating the poveny line i e wdT W o A
ia?
India ? ¥

(A) National Survey Organziation

(A) TS T39O T
(B) National Sample Survey

(B) ST sfred Fdwar Fre=

Organization
(C) Sample Survey Organization (C) SIeRY HT Hret
(D) None of the above B I ¥ ¥ 9 T8
10. What is not a one of the majorcausesof  10. WA ¥ g HGHHTT 3 e Fow 2
income inequality in India ? T TE R
(A) Unequal distribution of land (A) 9 | I e
(B) Lack of fertile land (B) IS g R
(C) Gap between rich and poor (©) R & e 3 &9 wEw
(D) Increase in population (D) e 7 Ry

US-15032 (s) (5)
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Which of the following isa method 10
mcasure relative poverty ?

(A) Gini coefficient

(B) l.orenzcurve

(C) Both{A)and (B)

(D) Noneof the above

Who presented the ‘[Pcople’s Plen’ ?
(A) M.N.Roy

(B) J.L.Nehru

(C) M. K., Gandhi

(D) None of the above

Who recommmends the M. S.P. and ‘issue
prices’ ”?

Ministry of Agriculture

NITI Aayog

Commission for Agricultural Costs
and Prices

(D} NABARD

Which committee constituted by the

(A)
(B}
(C)

Planning Commission to estimate the
povertyin 1979 ?

(A) Alagh Comnutiee

(B) Rangarajan Commitiee
(C) Tendulkar Committee

(D) SenCommittee

1. mﬂ%ﬂmﬁﬁﬁﬁﬁﬁ

12.

13.

14.

(6)

M oF TN & 7
Ay Prft o

(B)
© (A ® &
) T A { B T

Iia =

m-de R TR B R 7

JA) T, Iy

@) 3w # | P TH

A wda g (Lewd.) @
‘Wtﬁa'iﬁmﬁmmm%?

(A) P A

@5 Y

©) R T Td B I
D) e

1979 F T & FTAT A S [{@
drr e o e g @ e
R m ar ¢

&
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‘National Mission for A Greg,, Indina® is
183 If

merged with :

(A) Swachchha Bharat Abhiyar,

(B) National River

Conservarion
Schemc

C) National A 1

(C) fforestation ngmm ne

(D) MGNREGA

What is the minimum days for EWrznteed
Burantee

wage employment in MGNREG!\ o
(A) 100 days

(B) 120 days
©)

(D) 200 days

150 days

‘BRICS’ is a group of countriey :

(A)

Brazil, Russia, India, Chins ang

South Africa

(B) Bangladesh, Russia, India, China

and South A frica

(©) Bangladesh, Russia, India,

Canada and Singapaore

(D) Brazil, Romania, Indonesia.

Canada ang South Africa

(7)

15.

16.

17.

;mmmm'ﬂwm
gra f&ar mar ?

Ay @B aE afEE
(C) T FeeT wdEH

(D) ‘—'Fﬁ"Tl

AL (MGNREGA) % A=R1a g
et Rl & odtgqer I Foem
Feer & 7

(A) 100 R=

By 120 R

(©) 150 R+

D) 200 R+
B (BRICS), W T T T D
AT AR, W, WRE, d9 S R

ITHIFT
(B) IRy, &4, TRA, €9 a¥ zim
ATHTH

(C) ey, =g, I, HArer 3

Rimge
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L 18 T ¥ oTE o @ ot fom o
I8. Which year India has the high®

e @ ?
economic growth ratc ?

(A) 2006-07
(A) 200607

(B) 2007-
(B) 2007-08 ) 7-08

(Y7 2013-
(C) 2013-14 77 2013-14
(D) 2014~15 (D) 2014-15

19, Which sector contributes the most 19- WG & srefamawar § P-w1 ¥ qad

income to India’s economy ? AE s = dieE w2
(A) Primary sector (A aEtEs 8

(B) Secondary sector (B) & 2=

(C) Tertiary sector (€) Tha® &=

(D) None of the above (DY TRF | § B T

20. Inwhich Five Year Plan Indiaoptedfor  20. &g duadfa @ & @@ 3 Fibdm

a mixed econony ? Sreferaen & G 1 7

(A) First Five Year Plan (A) TU9 GEadiE A

(B) Second Five Year Plan @y o dw=ada Qi

(C) Third Five Year Plan (C) JdW dugd A

(D) Nonc of the above Dy I § § D T
ys-15032 (§) (8)
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23.

24,
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Which country is the top Aluminium 21

exporter in the world ?
(A) India
(B)
()
(D)

Russia

China

Canada

What is the full form of MOQC 9 22.

(A) Massive Online Objective Course
(B) Massive Open Online Coyrs,
(C) Massive Online Open Course

(D) Mass Online Open Course

Which economist was the cofounger of 23.

“Sumaj Pragati Sahayog’ 7
(A) Sukhadev Thorat
(B) B.B.Bhattacharya
(C) V.K.Malhotra

(D) Mihir Shah

Which statc has the highest Gross State ~ 24.

Domestic Production {GSDP)in India?

(A) Kerala
(B) Uttar Pradesh
(C) Maharashtra

(D) Madhya Pradesh

(9)

R &, STET o g
ﬁaw%ﬂr%

GA)

© =

@ FTS
quaitSdl (MOOC) & T - 3 -
(A) Aa HFERT =ity S
@) A AT St B
©) At A=A T 3
(D) #E AR e g
Fr<fefaa 4 8 | sodast o
T e % wehTs ¥ 7 !
(A) g3 dre
®) . wTEd
©) §.P. Je@=TT
D) Rt g

T # R T W owew g I
(GSDP) wa®t aifirs 2 ?

(A) FF
“BY  IaT =W

C) werrs
D) sy Ry

https://www.ccsustudy.com
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25, ‘gh-ar FEIT  deeaA R

25. The conceptof *Knife-edge equilibrium

Q?
was given by :
(A) Harrod LAy Rzl
(B) Solow ® ¥\
(C) Schumpeter (©) e A
(D) Domar ©) IIA

26 ﬁqﬁ%ﬂ%mﬂwﬁaaﬁﬂﬂ

26, Which onc of the following is not 20,

correctly matched 7 14
(A} Stages of Economic Growth (A) A CED q@ # FaWEIT : A=
Rostow

@y s e
(B) lnpu‘l-O'utpuIAnal)'sis:Hicks

(C) Factor Endowment Theory : Ohlin

(D) Critical Minimum Effort Theory -

Leibenstein RICRiCE
A7 Duescnberry given the concepl of . 27. Pr=faiae & ¥ PF-u AR w
N 3 e 7
(A) Income cfiect & T
(B) Demonstration cfiect ®) qed e
(C) Substitution effect (C) gfreqrgq oW
(D) Price effect (L) A T

us-1 5032 (S) (10)
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According to Kuznets.

L -
=14 ﬂn”mlc

development is measured by -
(A) National income
(B) Percapita income
(C) Percapitasaving
(D) Personal income

“Foreign trade is an obstacje in the
development of poor countries * who
said ?

(A} Gunnar Myrdal

(B) Adam Smith

(C) Rosenstein Rodan

(D) David Ricardo

Which of the following is/are objestive

ofeconomic planning ?
(A) Full employment
(B) Maximum production
(C) Increase in population

(D) Both (A)and (B)

28.

29.

30.

(11)

e ¥

(A) TEE HAG I

() WEFERE F=7 3
@) ¥FE I I
HIUTEH B 1 A = 7
(A) T g

By =% fom

(C) AL T

(D) 3W NE=

e & § anits P 3 3w

(A) Tt A
(B) WSIn Jares
()Y FHem g

“D) (AW (B) A
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Determinants of economic development
18/are ;

(A) Capital accumulanon

(B) Tluman resources

(C) Foreign capital

(1) All of the above

The concept of 1.1 1. was popularised
by -

(A) Nurksc

(BY Robbinson

(C) Amartya Sen

(D) Mahbub-ul-Hag

Economic growth rate is zero. It means:
{A) National income is zero

(B) No increase in national income
(C) Population growth rute is zero
(D) Nonc of the above

Who wrote the book “The Theory of
Economic Development™?

(A} J. Schumpeter
{B) Amartya Sen
(C) Colin Clark

(D) Jacob Viner

32.

Lad
Ly

(12)

31, it R & Froie 9 3/8

(A) AN HEl
(B) A=Eg e
(©) R T

~) I @

e B, A gaewar & T
WY T ERT

B) e &

(€) Fud AT T

(D) TEE-IT-TH ERI

i B & & 9 0 @ o &
(A) UL A LA BT

B) U™ I F g A &
(C) e gha A & LI B

) I X A B AR

“% GAry 3t g SatuAe” JR
e fereht ?

4AT . gl

(B) o {
(C) #ftm TP
(D) AFA ATAT

https://www.ccsustudy.com
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35. Who put forward the

35, ‘A AW B e By

'I'"Q"'r;-' of

“Technical Dualism" 7 fran?
(A} G Myrdal Ay . @5
(B) I H. Bocke ® F.oa. Th
(C) Henjamin Higgins () FHE Rfr
(D) Ragner Nurkse N2} T A
36. Which type of unemployinens foundin 36 Srafe s 23t ¥ By omT & SHE o
underdeveloped countrics ? qrEr FN g7
(A) Cyclicalunemploymen: (A) TGhg AT
(B} lechnical unemployment (B) TBA 1! éﬁl—‘!'“T"
(C) Disguised unemployment (C)y HASIY ELE LI
(D) None of the above Dy IV F F B wH
37. Theaverage income of a country i ; 37. fFR 29 A Shaw G A2
(A} Percapitaincome Ay wiaaf@a o
(B) Disposable income (B) a9 N3

(C) Real national income

(D)} None ofthe above

38. “Acountry is poor because it is poor” 38, ‘U AW s ¥ OE 1w Ange d
i KR In S

This statement given by :
(A) Rustow

(B) Youngson

(C) Lewiy

(D) Nurkse

US-15032 (s)

(13)
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1. Precwd G oy W e

The theory of low-lex ¢l cquilibrium rap
given by :

{(AY R R.Nclson
(BY W. W, Rastow
1 G Mhyrdal
(DY A.D. Hirshman

Which one of the following is not

the ‘Balanced Growth

suppert

Principlc™ ?
(A)
(B)
(C)

Regnar Nurkse
Arthur Lewis
Rosentein Rodan
(D}  Albert Hirshman

“The case for balanced growth rests

ultimately on the necd for balanced
diet.” This statement given by

(A} R.Nurkse

(B} A.Ghosh

(C)
(D) Nonpe of the above

G. Myrdal

Which of the foilowing is not included in
Rostow’s stages of economic growth ?
(A) Theuake-off

(B) Traditional society
(C) Highmass consumption

(D) Warranted growth rat

47.

48.

49.

(16)

ey R ?

(A)  HICAR. A

(B) sﬂ,ﬁ.i‘r@ﬂ

() 9. PR

M Q@E‘m"‘

Arafifed § & # ogRE (o
Rrer=’ 1 THE® A6 8 7

(A) TR TR

(BY R G

() T T$H

D) I BT
”a@ﬁmﬁmmﬂaqﬁﬁﬁaﬂ

B sraerea W PR ¥ 17 T
wo R d

LAy ACTRY A

®) ¢ 3

) . fEa A

®) I 3 ¥ B T
Prefafag % @ w1 < B oS
gtz 1 et § aifter ¥ 7

(A) TR

(B) TTYRIT FARA
(C) I 1 IR
() sve ofe

https://www.ccsustudy.com
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32.

>3.
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Multi
Poverty Index® ?

(A) Education

(B) Hcalth

(C) Living standard

(D) Labour market paticipation

Which Rostow's stages has the highest
1

consumption level ?

(A) High mass consumption
(B) The takc-off

{C) Preconditions of take-off

(D) Drive 1o maturity

[n India absolute poverty is measured
by:

(A) Calorie
(B) Minirnum consumption expenditure
(C) Percapita income

(D) Both(A)and (B)

Which state has the maximum number of

people living below the poverty line
(A) Bihar
(B) Uttar Pradesh

(C) Madhya Pradesh

(D) Maharashira

US-15032 (8)

50.

52.

(17)

33.

qgATT N T T 3§ fay
oot T E

W (AW ®) B am

BE g F T Y @ S o
W B wEr ofeaw ¥ 2

“«X) [ReEr
(B) IdT My
(C) Wy my

(L) wErTE
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sa. Preafars SEwA B I FATRIS

Arrangc the following programmes in

chronological order :

1. Indira Awas Yojana

2. Swamajavanti Gram Swarozgar
Yojana

3.  Sampooma Grameen Rozgar
Yojana

4. Pradhan Mantri Grameen Sadak
Yojana

Codes .

(A) 1.2,

By 2.5

(C) 4.1,

(D) 1.2,3.4

This tvpe of unemployment can occur
even in a situation of full employment :

> &
Lad

td

-
2

Structural unemployment

Functional unemployment

(A)

( velical unemplovment
Disguised uncmployment

In lodie econemic survey is published
officially every yearby :

(A) RBL

(B) NITIAzyog

(C) Wamstry of Finance

(D) Ministry of Industnes

55.

(18)

¥ =aitaa AT
1. RT | ae
> aobrd I @I JNE

(A) 1,2,4,3
@) 2, 3,4,
(€) 4,1,2,3

M 1,2,3,4
ot Do @ Refy A A W BT H
Fiorrd ol S @

(A) drEe ey
(B) TRAINE aGorwQ
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57. Whoi '
013 the current C.E.O. ofthe vip  §7.
Auyog ?
(A) Rajeev Kumar
(B) Shaktikant Das
(C) Amitabh Kant
(D) Narendra Modi
58. CAPARTIs: 58,
(A) Council of Advancemen: of
People’s Action and Ry
Technology
(B) Council of Advancemem of
People’s Action and Ryra)
‘Iransformation
(C) Council of Agreement of Person's
Activity and Rural Technology
(D) Current Affairs of People's
Activity and Rural [ransformation
59. Whichof'the following institutionsisrot ~ §9_
part of the ‘World Bank Community* ?
(A) LB.R.D.
(B) W.T.O.
(C) LD.A.
(M LEC.
US-15032 (S) (19)

o ST 3 T AL
(4

®) gfdeid a9

7 =

#qré (CAPART) 2 :

(A)

(B)

©

TE T FBEAIA

e & § 99-9 o AR B
WE WA adt X ?

(A) M. R].ARA.
®) T8
() g dx,
) . .

D)

https://www.ccsustudy.com
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60. fawy g ® AW Now dT ¥ ?

Who is the current President of World
Bank ?

(A)
B)
(C)
(D)

Jim Yong Kim
Justin Yifu Lin
Donald Trump
David Malpass
Which of the
Brettonwoods twins ?
(AY IM.F and .LBR.D.
(B} T.M.F and W.T.O.
(CY I.BR.D.and W.1.0.
(D1}

following are

W.T.O0.and A DB

Which Five Ycur Plan was based on

Harrod-Domar model ?
(A)
B

First Five Year Plan

Second Five Year Pian

(") Third Five Yeat Plan

(D) Fifth Five Year Plan

TRIPS1s:

Trade Related Aspects of
Imelicctual Property Rights

(B) T1erms Required and inteliectual
(C) Trade Related Agreements and
intellectual Property Rights

(D) Trade Related Aspects of
Imelligent Possible Sources

(A}

6],

6.

(20)

(A) fm dn R
() e g =
(C) S g
(D) T AW

P & { o Begee IR ¥ 7
AT I . o IR e R,
®) .05, I eg. A
(©) F&ID. A z=gda.
©) sa A i el
P-4t Geadty o BE-Snw A
7 Jqia 4@ ?
AAY SR G A
B) i qeda @
(C) gy Jemdfy s
(1)) Y99 deadiq Qs
| (1ripS) ¥ -
(A) 2% RoRT ey e Rdrga
et e
By T Red T {agart A
W
(©) 3% fefez Wiitew wog {Aagem
ot T

D) & RRE srliem affe RfRvle
s R

https://www.ccsustudy.com



64.

66.

67.

US-15032 (s)

Indicative plmming Was ifitiate) in

(A)

(B)

https://www.ccsustudy.com

64.
France

Rutssia

(C) America

(D)

Which of the following is knowr aq

India

65.

‘Paper Gold™ ?

(A)
(B)
©
(D)

If the balance of payment of cauntry is

Rupee
U.S. Dollar

S.D.R.

Demand Draft

66.

adverse, then which institution wjl} help

that country

(A)
(B)
(€)
(D)

lerms of trade of a country shows -

(A)

B)
(©)

(D)

World Bank
Asian Development Bank
International Monetary Fungd

World Trade Organization

Ratio of goods exported and
imported

Ratio of import duties

Ratio of price of exports and
imports

None of the above

(21)

67.

af@f® A wew g oo
(A) i H

By A

©) FRE F

e & ¢

(A) BT

@y .. 3

(C) g 3.

O) =3UE I

G JEew wEwar ;- <=
BN ?

&7 fawm ¥

®) R e 3

(© s ga1 2y

D) W 3R FwT

R 9 e wd ¥ T

@) PR et o s
BT

B) N g F

© MR g v amm g s
HI

WB) I9hF F } ;g
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69.

71.
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% “forei de:
This is an advantage of foreign ira

al
(A) We can preserve OuT natur
TCSOUTCCSs
(B) New technology comes 10 the

counuy
(C) People need not go abroad

(D) We can get foreign currencics

The concept of sustainable development

is recommended by :
(A) Brundtland Commission
(B) IL.M.E.
(C) World Bank
(D) Brettonwoods Commission

Who release the Multidimensional
Poverty Index (MPI) ?

(A) World Bank
(B)

()

U.N.D.P.
AB.
(1) UNCTAD

N.B.F.Cs stands for

(A) Non-Banking Financial Companies
(B) NetBanking Financial Companics’
(C) Non-Banking Financial Corporations

National DBanking Financial

D)

Companies

(22)

69.

70.

68. ﬁhﬁaﬂﬂﬂﬁm%‘

ggemnd Praa gam® (MPI) &
e A H € 7

(A faw 5%

® 3wAda

() TEA.

(D) FHAZ

o . 4.0%.91. (NBFCs) &

() A-FRE e F
B) AT TR GRERER FEH
(C) AF-SRFT wEEe BRu
@y AT AT wEAREw FET
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72. Which of the follawing i5 2 dctepy 1, Pt & - AR 7 Fefra
nant .

of trade ?

(A) Taste

(B) Per capital income
(C)  Technological change
(D) Allofthe above

73.  According to Amartya Sen, wha is the

principal end of development ?
(A)
(B)
(C) Honesty
(D)

Frcedom

Democracy

Education

74. The llarrod-Domar growth model js

bascd on which two economic

elements?

(A) Savings and investment

(B) Raw material and tee hnology
(C) Tariff and tax level

{D) None of the above

75. Identify the model which is concerned
with the *Golden age’ equilibrium ?

(A) Kaldor model
(B)
(C) Hicks model

Keynesian model

(D) Robbinson model

US-15032 (s)

74.

75.

(23)

(A) Ffrefa
® gfaafe amg
(C) ﬂﬂiﬂ Znﬂiil

) e |

Yire-2rT Htew B A A et @ |
iz 2 2

A} TOd ud FRw
(B) FT=I-9IA Wq JFAH

(C) T T TN &R

®) INFT T F [ T
WIGT WA A Fi e 3
(A) FRER Hizd

B) = dtem

“E) R Atsa

O M= sdrzw
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In the context of which region was ih¢
‘Big Push’ stratcgy of devclopment

formulated ?
{A) East Afnica
(B) Lastern Lurope
(CY  South Asia
(D) tastAsia
Which ofthe toliowing chamacteristics is
are of underdeveleped countries ?
(AY  Scarcity of capital
(B}  Technological backwardness
(CV Unemployment
(DY All of the above

Which of the following about strategy of
‘Balanced Growth isnight 7

‘AY Simultaneous investment in all

sSeclors

B: Al sectors are independent
(C, BothtAjyand (B)
(D) None of the above

According to the Neoclassica! theory,
economic development is
(A; Gradual
(B) Harmomious
(C) Cumuimive

(D) All of the ehove

76

(24)

Prm 2 @ oed & ‘a8 o' B Rem
e @y @ T ?
(A T8 TR

(B) {ﬁ @'q
() T ofan

(D) T R

Prafafeg & @ @ siRsfa 2 &

v B/% 7

(x) TN ger

(B) TR Rese

€y QI

Oy IR TR

Rrfafra & agiva Ree A A9

AT ali ¥ ?

(A) sfemrem & gt & ¥ R
v

B) N 8 wax &

w) (AT (B) A

D) IdE & A B 7

TRz Rrera & ER aits Rea

z:

(A) ®HE

(B) Y™

(C) wah

M) Ighw |
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necessarily if (here i - “en 80, .
(A) Population growth *) e gﬁz e
(B} Capital formation m) P
(C) Technical Progress <) are i Bk 3
(D) Allof the above LDy JulE A
81. [Cconomic growth measures the - :
(A) Growth of productivity o qum m::ﬁj
(B) Increase in nominal ncome ([B} A5% JT o -QT—‘Z.’
(C) Increase in output (C) T -1 3_%
(D) None of the above GOy IR € H B} A
§2. The concept of opportunity ¢oy i g2 FHaO{ AF B HEOH HH Er=
based upon the principle of - B AT % ?
(A) Need (A) JTATTHA
(B) Consumption @ I
(C) Scarcity (C) ZoHar
(D) Profit (D) <mH
83. Compared to the developed countrie:. 83. [O=ihg 2w = T 8§ = T
the .LDCs have : aw & ;
(A) Higher birth rate and lowerdaath JAY T I 3T T e mE T
ratc 2 T
(B) Higher birth rate and hicher death v
I 2 (B) ?Wﬂ@ﬁ‘f"?"’
(C) Lower birth rate and lower death ©) B9 o= 77 o3 B T T
rate %‘ )
(D) Lower birth rate and higher death ;
N X (D) Ziwmﬂqasaﬁn&v
US-15032 (s) (25)
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84. 3N (OPEC) ¥

84. OPECis:
(A) Organization of Petroleum () SFFR ot YRR T ,}
Exporting Countries '
(B) Organization of Pre-European R
Countries | B) ST o DR FE
() 0il Producing Economic
Countries (©) IMaw ArggRin TR F9E
M 0Oil  Producing  Economic
Commission D) e TR AR A
85. According to whom. surplus value g5 R AR, AR T U
should be gir en 1o labows ? & P oo ?
(A) Scn A) ¥
(B) Gandhi @) W
(€Y Narl Man ©) e W
(D) Adam Smith (D) v e
86 Fconomic growth 1s usually coupled 86, ¥ SN IR | {§aA o
with &
(A Deflavon (A) ATERR |
(B) Stagflavon (B) TErARWE 58 &
(C)  Inflation (C) TFEEHRY ]
(D)  Hypennflanon (D) Glﬁ'giﬁ@ﬁf q
¥7. ln India. deficit financing is used for 87 HITA ﬁ‘, me # Ra-sm & wam
raising resources for - e o &
{A) Economic development (A) TS m 3 Rﬂ
(B) Redcmption of public debt
(C) Adiustment of balance of ®) 5 W A 3 m
payments (€) THA HgF F9aeE 3 fre
(D) Reducing of foreign debt D) FPRA = 5 31 FE 3 RO
US-15032 (S) (26)
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89.

90.

ol.
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According to .‘»1allhua. the fixey f. 8
of production IS “or 85

(A)
(B)
)
(D)

Labour

Capital

Land
Enlrcprcncurship

What is the aim of ‘Pradhan Mantr;
Samman Nidhj Yojana’ ?

(A)
(B)
(C)

89.

Minimum income to farmers
Pension to farmers
Imigation

(D)

Free electricity to farmers

Who is the hcad of the "Monetary

Policy Committee’ ?
(A)
(B)
©
(D)

The expenditure

government

R.B.I. Governor

Finance Minister

Prime Minister
Vice-Chairman of NTTI Aayog

done by

the ‘MGNREGN
Scheme comes under the :

on

(A) Revenue expenditure
(B) Capital expenditure
(C) Planned expenditure

(D)  All of the aboye

(21)

%0.

the 91.

area® ® T, T A BT Fw
x:

[A)q“{ﬂ

®

© ™

@) TN

wqarrEt TEE B AT @ owp
e & 7

(A) et & T <gFaw sy

® Rast 3 e e

© Riad

AR A ol = sem A= 3=
27
(A)
(B)

IAR.ARN.AE. T
B =

(C) sEFHR

D) Iy, Ry A=™\e

"THEN AN @ T ST 3 e
™ I e s=Elg o X

A I =y
®) T =g

(©) AT =g
\D)  IqdE ae
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qz.i%mrmm“mgﬁ%m

the
92. Which state government faunched f o PR— &
‘Reading Mission’ initistive 10T - %
students?
q (A) I
A) Orissa
® eral B) W
B) Kerala
o (C) eRAN
. AT A
®)
(D) Uttar Pradesh 3 it
93. What is the toll-free number issucd by 93, WA ’ﬁ:‘qﬁm R T o
the Health Ministry for the public 10 | W
. O 9 e T t?
inquire about Corona virus (COV [D-19)"
A) 1071 (A) 107}
( : 1075 ® 107
(I(; 1082 (C) 1082
((n] 103; (D) 1089 N
94  “The Stages of Economic Growth' i 94. % 1%:14 G FBAE el
w8 ?
written by :
A
(A) Rostow (A) mﬁfaq
(B) Marshall (B)
C) e
(C) Nelson (C)
(D) Myint m) R N
95. Rodan thn:ox}"sn'tainindivisibilil}'is: 05. A== R i T JfaweT 8 -
(A) Indivisibility 1o the production (A) AT G & R
fonction ®) it B eI
(B) Indivisibility in supply © # "
ivisibility in agriculture
(C) IndvisBERE? o) o ¥ B
(D) None of the above
US-15032 (S) (28)
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96. The commigee for working
N the

operationa] guidelines of *Kisap g
il

is-formed under the aegis

ministry ?

(A) Ministry of Railways

(@) Ministry of Agricultyre
Farmers Welfare

(C) Ministry of MSME

() Ministry of Finanee

In capitalist economy, wage rateg

are:

(A) High

B) Low

(C) Medium

(D) All ofthe above

Which state government Jauncheq

‘Mukhya Mantri Kanya Sumangi,

Yojana’?

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Iaryana

(D) Tamil Nadu

What is the slogan of the ‘Pradhan

Mantri Jun Dhan Yojana' ?

(A) Mera Khata Bhagya Vidhata

(B) KalKi Fikra Nahin

(C) Sabka Sath Sabka Vikash

(D) None ofthe above

OF which
and

97.

18/

98.

99.

100.
(A) Harrod
(B) Domar
(C) Hirshman
(D) All of the above

US-15032 (s)

Theconcept of ‘Sigma Effect’ was givenby :

.ccsustudy.com

y mwgm'mh’%
afefy & o7 [0 T R 2

(A) @
@ P @ |
© W’agqﬁqﬂﬂm HATR
@ & A
Wmai“ﬁ@aﬁm
t:
(a) FH
® M=
(C) w&H
@) IR TR
o8, Pl T WTHR } ‘IR H gven
o o B Y T
() IR
®) 7@ R

©) #itarn
D) by
;{mwm'ﬁmﬂ
(A) WU G Srg Ry
®) T N s T8
&) TEH 99 &5 REg
O) IF T F FE Td
100, ‘Mm’?ﬁﬁaﬁmwm?
&) ¥}z
B) =hr I
©) wilF 3
©O) IWwT T 3

97.

G9.

(29)
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